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Surds o/ _Name:

/
/ - :

NG Time allowed: 45 minutes /
Section A Multiple Choice (1 mark each)

6 QJI_OXﬁXZ-\/E is equal to:

1 V18.079 correct to 2 decimal places is:
A 326.85 ' ' A 240 / _
B 426 | B 4240
o | D 16415
2 ~/507 in simplest form is equal to: | : A
A 257 / e 7 11(«@ —2«/5) equals?
B 17 / A 131345
C 16943 / B 13-9/5
D 1343/ Co1W3-2245 0 ;
L D 13-245
3 Which of the following surds, When
simplified, will equal 3+/7 7 ;’ 8 4 4 with  rational
L — expressed with a rationa
A 147 | 76 °F |
B 441 . denominator is: L
c i1 - s Y6
_ 4 /
D V63
, 5 B 46 /
. R c 2 /
- - /.'
-4 243 +3y2 -2 is equal to:- 3 ra
A s o - o 26/
‘B 23+242 - ‘ | T A
C 24343
D 53
S 12/48 —4\/775 equal to:
A 283
B 8v-23
- C 56
D 83 f
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Section B Short/Extended answer

1 Reduce the following surds to simplest form: .

@ V72 @ | o
| T

) 55 ECN 2
| . '
j
(© 114288 ° © ff ’ 2
, 1 .
|
g
!
|
2 Write each of the follovﬁng 2 an entire surd in g _
the form Ja : : _ : (a) / . : .?;\
@ 245 / , |
®) I3/ - | ®) ! 2
,_ //: |
3 Simplify the following: ‘
(a) 6V2Z+4J2 -2 @ E
() 35215 =75 +3415 ®) ! 5
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4 Simplify the following:

(@) 4472 +3i8 | @ - oo T2
(b) 345 +2+/180 - 24/125 (b) | | "

5 Simplify the following:

(@) 3v2x443 (a) ﬁf 2
\
\ \
(b) 3W5x4J10x22 ® | 2
) |
|
B
|
1
| L
6  Simplify the following: _ : .
(a) V6o | : @ . ‘ I
V20 [ | -
b
96 ]
f
r
!
|
|
"l\ _
\
\L
\
\
fj !
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Expand the following and simplify wheré

appropriate: J_ . -
@ V5(VI1+245) @) — 2
L ‘
® (5+3)E5-3) ®) 2
Expres.s the following fractions in simplest
form with a rational denominator: -
@ = o @ :
\/g L 0 ) f,;’f
— = . ;f
| ,f
5 / . /!
43/ '
b) —= (b) 2
® 3 f?/ o
| |
|
! —
|
|
- |
(© 3-8/ B ’ A
\/% - (© i 3

End of Test
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“Surds

Time allowed; 45 minutes e, ’ Section B Mwol\mﬂns%& answer

Section 4 Multiple Choice (1 mark each} &
ko 1 Reduce e mowoéﬁm surds 1 mﬁw_wﬂ for:
1 /307 noﬂaﬁﬁoqmwnﬁ&ﬁHEGG 2T %3 X242 is w@aﬁo” (&) J72 (2) 1 d ~ __ 1
A 32685 . & 240 . - .
“w .A.dm \ W _1.|10L. = b.rﬂu\mw } - %.t \
415 = & z fnm ,
425 © 85 =875, A
D Hm;\zi\ LA . ® 554 . o P .
. . . . Slaxk = sysvll . -
RN Baﬂuam S : .
ple oﬁpﬁm@cﬁﬁo . B ;.\ll )\W , = j5Tr e N
A 257 = ﬂmmw “Z_.m 3 .N V an?&m.
B 1247 . A 1W3-135
C 16943 B 13945 o © 1vzsg . - © - 2
B 1343 © 1W53-245 o : ‘ . Jikxs e
Lo D 125 o o A
5 Which cw&a..mocomjmﬂm mwmwam,..d.qwg - .
.muhuwwmonr will equal 347 7 C4 A viith 2 ratioml e’ .
A VT = BB -l R S T e sah o e follow Fire sord _
5 J\ﬂ L s - aE idenormizator is: . | o 2 Tite ead o. e following as an entire surd In Rz |
-2 T e e e aliggm
/ s ExE. T g @ 25 _ e~
MR \wﬂ A | EC | £ EE S Fic
v 2 S e G
;4 mJ\l m.,\... J2is equal to: o 3. \ , ' - ® W3 - _ \ ®) \ 5
. @ 25 o : ) 4 LExr = din : DM = Fags
i e i /A
C 2543 , T | | | o - _
D 53 hw . : o .
: \AW - 3 Simplify the following; . . o .\ \ .
s e " _ . @ 6V2+4V2-42 @ . _ I
= Hmz\..m.w.lh;\ﬂmaﬁnﬁﬁo“ ' C . S e T . T
. @ 283 ‘.\un oz — 435x3 ) c
B 8§v-23- / — : oo i T .
cc 56 Mﬁmm. 05 () 35 -215-75+ 3415 by .\N ,
p 83 "B . - B Y A 2
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4 Simplify the following: 7 Expand the following and sumplfy whers

ey % + w,\l . @ : : . =ppropdate: ‘ A e
mhkh m.xh . \_ : ﬁ% + W.)\wﬂw‘l R mm.u )\I.T\M.Lzoé .. mm.u . \\lxz\\iMI.Wﬂ 4+ \C ) I..l/.r 2
uhkmﬁ». +.mxuu.¢l Czo4dl + 92 \ .thlﬁm' \ . . : : ) | . . x - . .
() W +2180~2415 - . o, , . | y
| | ® | 3.Fs & 4 ofGs ~JONE. SR IE 1AW B ® | 5 -3aEr34d5-9,L )
: L NEs - eNE S . | . . u o
._ ‘ ..M__\,\II_Q.)\!\ : ) ) Lo ) . . ' :,. . u.lr+
, ~ * _ .. :7\1\ \ . . .
5 Simphfy the following: - . ) .
(@) 3vZIx43 . @ _{ 1Nty 2
| : / - 8 W%H.ﬁo woMoMMh% m,wmhmww In simplest . .
: T orm with 2 rational denominator: - : : .
, 5 7 \ 5 -
- . . : _m o - A . u‘ - - ' . .
() 3WExAI0x242 . ® . S.4AToo L2 w 5 ‘ o | w/F S )
.b..h..w k W\ M.IQW! Wllﬁ,m\m ~3FE
24 x 2 > . :
a4 xSTAIA2 C T L : | 124
w L= 240 \ . 1T %S
. . S _ S
Simplify the following: ) ) - . . : J\w_..lw\. : . . \ T
. +f60 ] (a) _ Ch 7@[.\ . . 1 - i . (=) 15 : C Q) : b\\mh \mv \ 3
¢ ® Q&..ﬂrlﬁfla - i . ] B 1 ” ﬂ =
= R _ I R W e
. ) ) ; . . ./_ <
zﬁmxmﬂm. ‘ ,\g\tllw ® N5 B _/
®) 5 = <3y s \ M_,H : s o
. = 5%3 = s\...uu..ﬂ\ __,.,. .\\JV .,
. ANT - , @ J
) = N Y 3/C / -
e .. . 7
/ ) gvv\\ End of Test
,/ — L7




